
Thy finite integral domains are fields
.
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pivot : Sps R is an finite integral domain

and at R is nonzero
.

CNTs : a has an inverse)

consider :

← pigeonhole principle

R is finite so to for some i >j .
[
Note: ai -- O would imply a-- O
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non neg power of a, thus in R .

But i > j ⇒ i - j > l . So : a Cai - i - t) =
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← elements of R .

ai = aj
-

ai - ai a 0.

-s

ai -to ai ( ai - J - D= o

ai - j - 1=0 (because R has no zero divisors)

ai -j = I
.
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EI Xp is a field ⇐

because frontearlier
, Xp is a finite integral domain

precisely when p is prime .

p is prime .


